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What is a « good » landing for our
pilots ?
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Can we overrun if those criterias are within limitations ?

REAL EVENT CDG26L — A320 — 64T — Night — runway WET (ATIS)
AB LOW = CONF 3 = REV IDLE - IFLD OK - T/D at 600m

80 kt
_ 600 m . : P Touch down

Stop at 10m from runway end

REV FULL SIMULATION :

80 kt
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Stop at 400m from runway end
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Development of new FDM tests - What did we detect ?

REAL EVENT - AIR FRANCE (AUG 2013)
AJA20 — A321 - 74T — Day — Runway DRY — LDA = 2180 m

TWY exited AB LOW - CONF FULL — REV IDLE = T/D at 700m
at 30kts

Touch down

L}

Max manual braking
(antiskid activation)

Insufficient deceleration (AB LOW)
(overrun at 40kts if no reaction)
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Graphical View of Landing Run

BRE_DIST : 1138




X and Y axis

Deceleration

inm/s2

Time line

The diamonds represent every 300m
The first full diamond represents 900m to Rwy end
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Deceleration and speed
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- Figures are spaced every 20 kts
- The full square represents 80 kts



Required deceleration
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Autobrake
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Reverser activation
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NEW FDM TESTS : examples
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m/s?
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Actual Deceleration
Minimum required Deceleration
----- Autobrake target

Manual Braking

Autobrake target=2

SEEIEI 123505 123510 123515 123520 123525 123530 123535 123540 123545 123550 123555

240T — CONF 25 — REVERSE IDLE — AUTOBRAKE 2 — Wind £2kts CDG 27R —2700m

140kts 117kts 30kts
o 50kts |

e 760M
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388—-362T — CONF FULL — REVERSE FULL — AUTOBRAKE 3 — NO BTV CDG O8R —2700m
ATIS : CAVOK // ATC : 5kts tailwind // No Runway state info 100kts
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Actions

SAFETY FIRST
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Actions — Airports 1/3

Rate of target of decel rate of the A/B not
reached

Part due to REV IDLE
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Actions — Airports 2/3

Rate of target of decel rate of the A/B not

— -
r e a.C h e d 3 Biaritz 11-SEP-2014
France c-02 BIQ-LFBZ
Rate b SAFETY BRIEFING
N 0

g DEPARTURE

E AGC /APC

& | raxiway

q _
* TWY P : Width <23 m.
RUNWAY

= RWY 09/27: TORA 2250 m.
* RWY slippery when wet. (FDM)

Climb gradient exceeds 3,3%. ( ATC)

RUNWAY

* RWY 09/27: TORA 2250 m.
* RWY slippery when wet. (FDM)




Actions — Airports 3/3

Final risk reduction through coordinated

) ; \
alrpo rtactions THIS 18 DG INFORMATION P BON, ARRIVEE STANDARD,
RUNWAY N USE 26 L, RWY WET, SKEEE RAE ATORCAE S
Rate 8A 600D, WIND CALM, - RA e

= W /
\. . /o
EEEEEEEER W ;”y,,f/ﬂﬂ’ U

Risk =
\ ‘ OUPS ! ON AURAIT

reduction Q) PEUT-ETRE DO UTILISER
, LES REVERSES MAX !

CﬂLClllOfl5 N05 PEH’O‘;‘ DIITTEMISSIIGE
A TOUT TROMENT EN'CAS DE DOUTE,
CESTREVERSEVIAX.

N
DESVOLS AIRFRANCE

SECURTE




Example of Results

Distance remaining at 80kt

0.25 -, rate per 1000 flights
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